


UNION E INTERSECCION DE CONJUNTOS

Selecciona la opcidn correcta.

A={2;4; 6; 8; 10; 12}
B = {10; 12; 14; 16}
AUEB={

AUB={ 2,4,6,8,10,10,12,12,14,16}

AUB={ 2,4,6,8,10,12,14,16)

P N Q={ 4,5)
P N Q={1,2,3,4,5,6,7,8)

T=4{a; b; C; d; e}
V={a; & i o; u}
TnV={

T N v={ a,b,e,d,e,i,o,u}

T NV={a,e}

!

M={muwrci,e;l;a;g;0}

N={myu;s,i;c,

MNN =/

M N N ={ m,u,i,c,a}

M N N ={ m,u,r,i,c,a,l}

C={0;1;2;3; 4, 5}
D={0; 2; 4}
CuD={

cubD={ 0,1,2,3,4,5)

CUD={ 0,2,4})

R=(3:4:5 67}
S={6;7}
RNnS=1{

R N S$={ 3,4,5,6,7)
R N S={ 6,7}






G={m;a;ri;b;e;l] H={p;o0;e;s;i;a)}

GUH =/ )

G N H ={ a,i,e)
G N H ={m,a,l,e}

K={15; 16; 17; 18 L={1920;21; 22}

KUL =/ }

KU L={ 15,16,17,18,19,20,21,22}
KUL={}

B~ N = {Ana, Beto}

VERDADERO VERDADERO
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